
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

K30S 
Kawasaki ER-6N 2012- 
 

Kit for left side:    Kit for right side: 

 

Instruction to assemble: 
Left side: 

1. Dismantle original bolt from frame. 

2. Mounting steel bracket ID.3, used original bolt, the cylinder on the bracket must fixed 

on the frame. 

3. Through the dural. adapter(ID6) and dural. cylinder (ID2) insert bolt M10x40 (ID1). 

4. This set mount on the bracket. Used washer M10 (ID5) and nut M10 (ID4). 

5. Fixed slider SL01 by bolt (ID7). 

6. Into the slider insert cover and fixed by bolt M4 (ID8). 

 

Right side: 
1. Dismantle original bolt from frame. 

2. Mounting steel bracket (ID3), used original bolt, the cylinder on the bracket must 

fixed on the frame. 

3. Through the dural. adapter(ID6) and dural. cylinder (ID2) insert bolt M10x40 (ID1). 

4. This set mount on the bracket. Used washer M10 (ID5) and nut M10 (ID4). 

5. Fixed slider SL01 by bolt (ID7). 

6. Into the slider insert cover and fixed by bolt M4 (ID8). 

 

 

 

Warning – used the glue on the all threads. 

 
 

 

ID Description Cat.No QTY 

1 Bolt M10x40 854 1 

2 Dural. cylinder 10mm 1 1 

3 Steel bracket for SL01 648 1 

4 Nut M10 810 1 

5 Washer M10 804 1 

6 Dural. adapter for SL01 DV318 1 

7 Bolt M6x25 877 3 

8 Bolt M4x16 876 2 

ID Description Cat.No QTY 

1 Bolt M10x40 854 1 

2 Dural. cylinder 10mm 1 1 

3 Steel bracket for SL01 649 1 

4 Nut M10 810 1 

5 Washer M10 804 1 

6 Dural. adapter for SL01 DV318 1 

7 Bolt M6x25 877 3 

8 Bolt M4x16 876 2 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 


